
ADJUSTABLE SERRATED FOOT PEGS

PART #
08-56-1
08-56-2
08-57-1
08-57-2

NOTE: USE BLUE OR RED LOCTITE ON ALL HARDWARE

DISCLAIMER: Joker Machine denies any responsibility for 
any issues that may be caused from failure to use liquid thread 
locker on all hardware listed below.

DESCRIPTION
LONG, BLACK
LONG , ALUMINUM
SHORT, BLACK
SHORT, ALUMINUM

Adjust footpeg to desired position and install 5/16-18 
SOCKET CAP SCREW using blue or red Loctite.

Tighten the 5/16-18 SOCKET CAP SCREW firmly, but be 
careful not to strip the screw.

Once the peg is securely in place firmly tighten the 1/4-20 
POINTED SET SCREW using blue or red Loctite.

Use our exclusive 10-24 PITCH ADJUSTMENT SCREW that 
enables you to change the angle of the peg in order to adjust 
it to a "level" riding  position (if necessary) so the pegs don't 
appear to "lay down" with time, 
vibration, etc.      

1.

2.

3.

4.

081004D 4/9/2009

ADJUSTABLE SERRATED FOOT PEGS

PART #
08-56-1
08-56-2
08-57-1
08-57-2

NOTE: USE BLUE OR RED LOCTITE ON ALL HARDWARE

DISCLAIMER: Joker Machine denies any responsibility for 
any issues that may be caused from failure to use liquid thread 
locker on all hardware listed below.

DESCRIPTION
LONG, BLACK
LONG , ALUMINUM
SHORT, BLACK
SHORT, ALUMINUM

Adjust footpeg to desired position and install 5/16-18 
SOCKET CAP SCREW using blue or red Loctite.

Tighten the 5/16-18 SOCKET CAP SCREW firmly, but be 
careful not to strip the screw.

Once the peg is securely in place firmly tighten the 1/4-20 
POINTED SET SCREW using blue or red Loctite.

Use our exclusive 10-24 PITCH ADJUSTMENT SCREW that 
enables you to change the angle of the peg in order to adjust 
it to a "level" riding  position (if necessary) so the pegs don't 
appear to "lay down" with time, 
vibration, etc.      

1.

2.

3.

4.

081004D 4/9/2009

5/16"-18 X 2 1/4" 
SOCKET CAP SCREW

1/4-20 POINTED 
SET SCREW 

EXTERNAL SERRATED 
LOCK WASHER (5/16" I.D.)

10-24 PITCH 
ADJUSTMENT SCREW

FOOTPEG MOUNT

FOOTPEG

1931 Yeager Ave., La Verne, CA 91750 
www.jokermachine.com, sales@jokermachine.com

(P) 909-596-9690, (F) 909-596-9693

5/16"-18 X 2 1/4" 
SOCKET CAP SCREW

1/4-20 POINTED 
SET SCREW 

EXTERNAL SERRATED 
LOCK WASHER (5/16" I.D.)

10-24 PITCH 
ADJUSTMENT SCREW

FOOTPEG MOUNT

FOOTPEG

1931 Yeager Ave., La Verne, CA 91750 
www.jokermachine.com, sales@jokermachine.com

(P) 909-596-9690, (F) 909-596-9693


